
















⑧9/10
To devive the form of the current

,
we

use the following trick . Take a = acx>

instead of constant & find the respecies

of the action writ the transformation .

3iS=/dx[Ongorry-by3g

=--d"X(8q(r(a) + x-29)] - -ya(q +xy)3
=
-Sdx[2y((y + x2970a + ad14 + x69)]

- ady4 - aby3x2q)

=-fdx[/q + x rg)gfra +ang)+ ag8xy

taGgXog-adq" - axbrg

=-fdx[(y +x -(q)Gq2a + 2 - g) 2

- xGromg2-asgn-axorgn .
-

-

we now integrate by parts the underlined
tems

, to
obtain (after dropping full derivatives)

Wi = - (d"x[(4 + x6rq)2q2ra + 2aprg)2

- or(ax)(ong)" -adqYy"or(axt)

=-(dx[(4 + x 9)anqura - (9)ada

# 94a)



ers = (64x2a) - 19+xvxy)24 +x2)
with

2 = (89) - 194 -

therefore , the Neether current is

In = - 19 + xrg)2rq + X-1 ,

as expected .


